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1. Solve 2sin(y®)dx +xycos(y*)dy = 0,y(2) =7 /2. (15%)

2. Use Laplace transform to solve the system
x'=3x+3y+8

y' =x+5y + 4e’! ] (20%)
x(0)=5/3,y(0)=11/3

3.If F= (3x2 —~6yz)i +(2y+3x2)] +(1- 4xyzz)l€, evaluate line

integral iﬁ -dr along the straight lines from (0, 0, 0) to (0, 0, 1),

then to (0, 1, 1), and then to (1, 1, 1). (15%)
4. Find an orthogonal matrix to diagonalize A.
1 0 42
A= 0 2 0| (15%)
V2 0 0
5. Solve the boundary-value problem
o'y 0%y
—=—=+0 (O<x<4,t>0
o ox’ )
y(0,0) = y(4,£)=0 (¢>0) (20%)

y(x,0) = %(x,O) =0 (0O<x<4)

6. Find the phase angle form of the Fourier series of the function, part of
whose graph is shown in Fig. 1.
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